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Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A— (10 x 2 = 20 marks)

1.  What is Shannon limit?

2. State the chaﬁnel coding theorem.

3. Compare LZ and LZW coding.

4.  What is meant by frequency and temporal méskiﬁg?.

5.  State the main difference between MPEG video ‘compreSSion algorithms and
H.261. :

6.  What is TIFF?2-

7. Give example for repétition code.

8. . Enumerate the pfoperties of a syndrome.

9. Define constraint Iength of a convolutional code.

10. What is the significance of Turbo coding?
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With neat illustrations, explain the various versions of Dolby ACs

stating its merits and demerits. : e R - (8)
Wifch neat illustrations, explain Linear Predictive Coding. (8)
How do you encode and decode a P-frame and B-frame? (10)
Explain the entropy encoding block} of JPEG standard. (6

S Or
Write short notes on H.261 video compression standard. 8

With neat illustrations, explain graphical interchange format.  (8)

Consider a (7, 4) cyclic code whose generator polynomial is

c Blx)=Llaiiad T (12)

@D Erncode the message (1001) using encoder and algorithm.

(i)

@

- @

(2) Decode the received word if error has occurred at middle bit

using both syndrome calculator circuit and algorithm.

Let ¢, ={ 10100 1} andc,={1100100}. Calculatew(c, ), w(c,) and
w(e, +¢,) for two arbitrary binary vectors ¢, and ¢, of same length.

wlre)wlhol)? @

Or

Consider a (7, 4) linear block code with parity check matrix given

i 12)

10 i 10
A1 1 o101 0"
O 00

(1) Generate the codebook.
(2)  Show that this code is 2 Hamming code.

(3) Iliustrate the relation between the minimum distance and
_structure of the parity check matrix by considering the
codeword 0101100.

Show that the minimum hamming distance dmin between two code
words of a binary linear block code is equal to the hamming weight
of the codeword with the smallest number of 1s. excluding all-0
codeword for the codebook C = {0000, 1010, 0101,1111). (@)

3 S 31511







